SECTION P

BID

BID OF	Lighting Maintenai	nce inc.
ADDRESS	832 Oregon Avenue,	Suite A, Linthicum, MD 21090
TELEPHONE	877-279-7373	
FASCMILE NUMBER	877-279-7374	
E-MAIL ADDRESS	ryoder@lightingma	aintenance.com
MADE THIS	15th	DAY OF September
BID GUARANTY	Not Required if Total Bid Pri	ce is less than \$100,000
TIME OF COMPLETION		See TP-1.04 Duration
LIQUIDATED DAMAGES	PER CALENDAR DAY	N/A
TO THE MARYLAND AV	E FOR 90 DAYS FOLLOWING B IATION ADMINISTRATION ON INTERNATIONAL THURGO	
Department of Transportation Interior and Exterior Light	on, Maryland Aviation Administrat ting Maintenance and Light Pole ernational Thurgood Marshall A	e Specifications entitled: Maryland ion, Contract No. MAA-MC-21-022, e Inspection and Repair at irport (BWI Marshall) and Martin State
the above-said project for th	e Maryland Aviation Administration	rials, equipment and services necessary for on in accordance with the Specifications and aryland Aviation Administration, number(s) ring price(s):
Bidders shall submit positive	e unit price amounts or a bid of zer	o on the Bid form only. No negative unit

price amounts shall be accepted as responsive bids.

Section I - First Year Unit Costs

Part I - Administrative Fixed Fee (Per TP-1.23)

Item No.	Description	Annual Frequency		Monthly Fee		Annual Cost
1	Monthly Fixed Fee at BWI Marshall	-12	х	\$10,000.00	Ī	s120,000.00
			s	ub Total - Part I	I	\$120,000.00

Part II - Labor Rates (Per TP-1.08. TP-1.12, TP-1.13, TP-1.14 and TP-1.23)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost		
	A. Supervisor							
1	Straight Time Labor Rate	70.00	х	1,000	_	\$70,000.00		
2	Overtime Labor Rate	70.00	х	500	=	\$35,000.00		
	B. Electrician/Mechanic							
-1	Straight Time Labor Rate	80.00	х	2,000	=	s 160,000.00		
2	Overtime Labor Rate	110.00	х	500	=	\$55,000.00		
	C. Apprentice/Helper							
1	Straight Time Labor Rate	50.00	х	2,000	=	s 100,000.00		
2	Overtime Labor Rate	65.00	х	500	=	\$32,500.00		
			Sul	b Total - Part II	=	\$452,500.00		

Part III - Equipment Rates (Per TP-1.08 and TP-1.23)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost
1	25 Ft. Genie Personnel Lift	40.00	х	100	=	\$4,000.00
2	45 Ft. Scissor Lift	40.00	х	100	=	s4,000.00
3.	90 Ft. Bucket Truck	100.00	х	100	-	s 10,000.00
4	60 ft. Crawler	200.00	х	100	=	\$20,000.00
			Sub	Total - Part III	=	\$38,000.00

Note: Some equipment shall be incidental to the work on and shall be factored into the hourly labor rates found above. These would be items such as: line truck with cable pull, confined space equipment and portable generator for small tools. However, the Administration has determined it shall compensate the Contractor separately for the following equipment.

Part IV - Light Pole Ultrasound Inspection Rates (Per TP-1.13 and TP-1.23)

Item No.	Description	Cost Per Pole		Annual Pole Inspection		Annual Cost
1	Light Pole Inspection Rate	1,350.00	х	125	_	s 168,750.00
			Sut	Total - Part IV	=	\$168,750.00

Total Section I - First Year Costs

\$779,250.00

(Total Part I plus Part II plus Part IV)

Section II - Second Year Unit Costs

Part I - Administrative Fixed Fee (Per TP-1.23)

Item No.	Description	Annual Frequency		Monthly Fee		Annual Cost
1	Monthly Fixed Fee at BWI Marshall	12	X	\$11,000.00	.11	s 132,000.00
			s	ub Total - Part I	=	\$132,000.00

Part II - Labor Rates (Per TP-1.08. TP-1.12, TP-1.13, TP-1.14 and TP-1.23)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost		
	A. Supervisor							
1	Straight Time Labor Rate	70.00	х	1,000	=	\$70,000.00		
2.	Overtime Labor Rate	70.00	х	500	-	\$35,000.00		
	B. Electrician/Mechanic							
1	Straight Time Labor Rate	80.00	х	2,000	.=	\$160,000.00		
2	Overtime Labor Rate	110.00	X	500	=	\$55,000.00		
	C. Apprentice/Helper							
1	Straight Time Labor Rate	50.00	х	2,000	=	\$100,000.00		
2	Overtime Labor Rate	65.00	X.	500	=	\$32,500.00		
			Sub	Total - Part II	=	\$452,500.00		

Part III - Equipment Rates (Per TP-1.08 and TP-1.24)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost
1	25 Ft. Genie Personnel Lift	40.00	Х	100	=	\$4,000.00
2	45 Ft. Seissor Lift	40.00	Х	100	=	\$4,000.00
3	90 Ft. Bucket Truck	100.00	x	1.00	=	\$10,000.00
4.	60 ft. Crawler	200.00	X	100	=	\$20,000.00
			Sub	Total - Part III	F	\$38,000.00

<u>Note</u>: Some equipment shall be incidental to the work on and shall be factored into the hourly labor rates found above. These would be items such as: line truck with cable pull, confined space equipment and portable generator for small tools. However, the Administration has determined it shall compensate the Contractor separately for the following equipment.

Part IV - Light Pole Ultrasound Inspection Rates (Per TP-1.13 and TP-1.24)

Item No.	Description	Cost Per Pole		Annual Pole Inspection		Annual Cost
.1	Light Pole Inspection Rate	1,350.00	X	125	-	s 168,750.00
			Sut	Total - Part IV	-	\$168,750.00

Total Section II - Second Year Costs

\$791,250.00

(Total Part I plus Part II plus Part III plus Part IV)

Section III - Third Year Unit Costs

Part I - Administrative Fixed Fee (Per TP-1.23)

Item No.	Description	Annual Frequency		Monthly Fee		Annual Cost
1	Monthly Fixed Fee at BWI Marshall	12	X	\$ 12,000.00	. #	\$144,000.00
	Sub '	=	\$144,000.00			

Part II - Labor Rates (Per TP-1.08. TP-1.12, TP-1.13, TP-1.14 and TP-1.23)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost
	A. Supervisor					
1	Straight Time Labor Rate	70.00	X	1,000	=	\$70,000.00
2.	Overtime Labor Rate	70.00	х	500	52	\$35,000.00
	B. Electrician/Mechanic					
1	Straight Time Labor Rate	80.00	Х	2,000	=	s 160,000.00
2	Overtime Labor Rate	110.00	x	500	=	\$55,000.00
	C. Apprentice/Helper					
1	Straight Time Labor Rate	50.00	x	2,000	=	\$100,000.00
2	Overtime Labor Rate	65.00	x	500	=	\$32,500.00
		Sub Total - Part II			=	\$452,500.00

Part III - Equipment Rates (Per TP-1.08 and TP-1.24)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost
1	25 Ft. Genie Personnel Lift	40.00	X	100	=	s4,000.00
2	45 Ft. Scissor Lift	40.00	Х	100	=	s4,000.00
3.	90 Ft. Bucket Truck	100.00	X	100	=	\$10,000.00
:4.	60 ft. Crawler	200.00	Х	100	=	s20,000.00
			Sub	Total - Part III	=	\$38,000.00

Note: Some equipment shall be incidental to the work on and shall be factored into the hourly labor rates found above. These would be items such as: line truck with cable pull, confined space equipment and portable generator for small tools. However, the Administration has determined it shall compensate the Contractor separately for the following equipment.

Part IV - Light Pole Ultrasound Inspection Rates (Per TP-1.13 and TP-1.24)

Item No.	Description	Cost Per Pole		Annual Pole Inspection		Annual Cost
1	Light Pole Inspection Rate	1,350.00	X	125	=	\$168,750.00
	Sub Total - Part IV = \$168,750.00			\$168,750.00		

Total Section III - Third Year Costs

\$803,250.00

(Total Part I plus Part II plus Part III plus Part IV)

Section IV - Extra Work and Parts Allowance (3 Years) (Per TP-1.24)

Item No.	Description			Total Allowances
1	Extra Work Allowance - BWI Marshall		\$	500,000.00
2	Extra Work Allowance - MTN	=	ş	60,000.00
	S	ub Total - Section VI =	\$	560,000.00

The Extra Work and Parts Allowance is per TP-1.24 The dollar amounts for the Extra Work and Parts Allowance are not guaranteed payments to the Contractor. The funds are intended to give the Administration spending flexibility for work over and above the routine scope of work outlined in the technical provisions of the contract for growth of BWI Marshall passenger counts and increased usage of facilities, as well as non-routine, unexpected and emergency expenses.

Section VII - Total Contract Cost

\$2,933,750.00

Sum of Total Section I plus Total Section II plus Total Section IV.

TOTAL CON	TWO million, nin	e hundred thirty-three thousand, seven hund	red
fifty	DOLLARS AND zero	CENTS. (\$ 2,933,750.00).	

The contract shall be awarded to the responsible bidder that submits the lowest responsive bid based upon the specifications.

The foregoing prices include and cover the furnishing of all vendor/subcontractor labor and material, mark-up, overhead, profit, delivery, storage, burden, installation, equipment, tools, insurance, and all similar incidental costs to complete each individual task, as set forth, described, and shown in the Specifications and other Contract Documents. Total Contract Cost listed above is the maximum spending authority for this contract and is subject to approval by the Maryland Board of Public Works. It should be noted, however, Administration spending authority for the contract is subject to fiscal year appropriations as approved by the Governor and the State Legislature and may be funded at less than the full contract value.

Each and every person bidding and named above must sign here. In case of firm, give the first and last name of each member in full with residence.

In case a bid shall be submitted by or on behalf of any corporation it must be signed in the name of such corporation by an authorized officer, or agent thereof, who shall also subscribe his name and office. The seal of the corporation shall be fixed.

****************	*********
IN WITNESS WHEREOF:	
Witness	Lighting Maintenance Inc.
9/15/20	By: Richard A Yoder
Date	Signature
Richard Yoder	Richard Yoder
Name of Point of Contact	Printed or Typed
301-674-0161	Chief Estimator
Phone Number of Point of Contact	Title
ryoder@lightingmaintenance.com	521737066
E-mail Address of Point of Contact	Federal Tax Identification Number
	or Social Security Number
Chief Estimator	
Title of Point of Contact	

MDOT MBE FORM A STATE-FUNDED CONTRACTS CERTIFIED MBE UTILIZATION AND FAIR SOLICITATION AFFIDAVIT PAGE 1 OF 2

THIS AFFIDAVIT MUST BE INCLUDED WITH THE BID/PROPOSAL. IF THE BIDDER/OFFEROR FAILS TO ACCURATELY COMPLETE AND SUBMIT THIS AFFIDAVIT AS REQUIRED, THE BID SHALL BE DEEMED NOT RESPONSIVE OR THE PROPOSAL NOT SUSCEPTIBLE OF BEING SELECTED FOR AWARD.

In connection with the bid/proposal submitted in response to Solicitation No. MAA-MC-21-022, I affirm the following:

1. MBE Participation (PLEASE CHECK ONLY ONE)

ſ	X	I have met the overall certified Minority Business Enterprise (MBE) participation
Ĉ	goal	of EIGHTEEN percent (18%) and the following subgoals, if applicable:
1	zero	percent (0%) for African American-owned MBE firms
1	zero	percent (0%) for Hispanic American-owned MBE firms
2	zero	percent (0%) for Asian American-owned MBE firms
2	zero	percent (0%) for Women-owned MBE firms
ļ	l agı	ree that these percentages of the total dollar amount of the Contract, for the MBE goal and
		oals (if any), will be performed by certified MBE firms as set forth in the MBE Participation
S	Sche	edule - Part 2 of the MDOT MBE Form B (State-Funded Contracts).

<u>OR</u>

I conclude that I am unable to achieve the MBE participation goal and/or subgoals. I hereby request a waiver, in whole or in part, of the overall goal and/or subgoals. Within 10 business days of receiving notice that our firm is the apparent awardee or as requested by the Procurement Officer, I will submit a written waiver request and all required documentation in accordance with COMAR 21.11.03.11. For a partial waiver request, I agree that certified MBE firms will be used to accomplish the percentages of the total dollar amount of the Contract, for the MBE goal and subgoals (if any), as set forth in the MBE Participation Schedule - Part 2 of the MDOT MBE Form B (State-Funded Contracts).

2. Additional MBE Documentation

I understand that if I am notified that I am the apparent awardee or as requested by the Procurement Officer, I must submit the following documentation within 10 business days of receiving such notice:

- (a) Outreach Efforts Compliance Statement (MDOT MBE Form C State-Funded Contracts);
- (b) Subcontractor Project Participation Statement (MDOT MBE Form D State-Funded Contracts);
- (c) If waiver requested, MBE Waiver Request Documentation and Forms (MDOT MBE/DBE Form E Good Faith Efforts Guidance and Documentation) per COMAR 21.11.03.11; and
- (d) Any other documentation required by the Procurement Officer to ascertain bidder's responsibility/ offeror's susceptibility of being selected for award in connection with the certified MBE participation goal and subgoals, if any.

Lacknowledge that if I fail to return each completed document (in 2 (a) through (d)) within the required time, the Procurement Officer may determine that I am not responsible and therefore not eligible for contract award or that the proposal is not susceptible of being selected for award.

MDOT MBE FORM A STATE-FUNDED CONTRACTS CERTIFIED MBE UTILIZATION AND FAIR SOLICITATION AFFIDAVIT PAGE 2 OF 2

3. Information Provided to MBE firms

In the solicitation of subcontract quotations or offers, MBE firms were provided not less than the same information and amount of time to respond as were non-MBE firms.

4. Products and Services Provided by MBE firms

I hereby affirm that the MBEs are only providing those products and services for which they are MDOT certified.

I solemnly affirm under the penalties of perjury that the information in this affidavit is true to the best of my knowledge, information and belief.

Lighting Maintenance Inc.	Richard A yolar		
Company Name	Signature of Representative		
832 Oregon Avenue, Suite A	Richard Yoder/Chief Estimator		
Address	Printed Name and Title		
Linthicum, MD 21090	9/15/20		
City, State and Zip Code	Date		

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 1 – INSTRUCTIONS FOR MBE PARTICIPATION SCHEDULE PAGE 1 of 3

PARTS 2 AND 3 MUST BE INCLUDED WITH THE BID/PROPOSAL. IF THE BIDDER/OFFEROR FAILS TO ACCURATELY COMPLETE AND SUBMIT PART 2 WITH THE BID/PROPOSAL AS REQUIRED, THE BID SHALL BE DEEMED NOT RESPONSIVE OR THE PROPOSAL SHALL BE DEEMED NOT SUSCEPTIBLE OF BEING SELECTED FOR AWARD.

PLEASE READ BEFORE COMPLETING THIS FORM

- Please refer to the Maryland Department of Transportation (MDOT) MBE Directory at www.mdot.state.md.us to determine if a firm is certified for the appropriate North American Industry Classification System ("NAICS") Code <u>and</u> the product/services description (specific product that a firm is certified to provide or specific areas of work that a firm is certified to perform). For more general information about NAICS, please visit <u>www.naics.com</u>. Only those specific products and/or services for which a prime or subcontractor is a certified MBE in the MDOT Directory can be used for purposes of achieving the MBE participation goals.
- 2. In order to be counted for purposes of achieving the MBE participation goals, the MBE firm (whether a prime or subcontractor) must be certified for that specific NAICS Code ("MBE" for State-funded projects designation after NAICS Code). WARNING: If the firm's NAICS Code is in <u>graduated status</u>, such services/products <u>will not be counted</u> for purposes of achieving the MBE participation goals. Graduated status is clearly identified in the MDOT Directory (such graduated codes are designated with the word graduated after the appropriate NAICS Code).
- 3. Examining the NAICS Code is the <u>first step</u> in determining whether an MBE firm is certified and eligible to receive MBE participation credit for the specific products/services to be supplied or performed under the contract. The <u>second step</u> is to determine whether a firm's Products/Services Description in the MBE Directory includes the products to be supplied and/or services to be performed that are being used to achieve the MBE participation goals. If you have any questions as to whether a firm is certified to perform the specific services or provide specific products, please contact MDOT's Office of Minority Business Enterprise at 1-800-544-6056 or via email at mbe@mdot.state.md.us.
- 4. Complete the Part 2 MBE Participation Schedule for all certified MBE firms (including primes and subcontractors) being used to achieve the MBE participation goal and subgoals, if any.
- 5. MBE Prime Self-Performance. When a certified MBE firm participates as a prime (independently or as part of a joint venture) on a contract, a procurement agency may count the distinct, clearly defined portion of the work of the contract that the certified MBE firm performs with its own forces toward fulfilling up to fifty-percent (50%) of the MBE participation goal (overall) and up to one hundred percent (100%) of not more than one of the MBE participation subgoals, if any, established for the contract. In order to receive credit for self-performance, an MBE prime must be (a) a certified MBE (see 1-3 above) and (b) listed in the Part 2 MBE Participation Schedule with its certification number, the certification classification under which it will self-perform, and the percentage of the contract that can be counted as MBE self-performance. For the remaining portion of the overall goal and any subgoals, the MBE prime must also list, in the Part 2 MBE Participation Schedule, other certified MBE firms used to meet those goals or, after making good faith efforts to obtain the participation of additional MBE firms, request a waiver. Note: A dually-certified MBE firm can use its own forces toward fulfilling ONLY ONE of the MBE subgoals for which it can be counted.
- 6. The Contractor's subcontractors are considered second-tier subcontractors. Third-tier contracting used to meet an MBE goal is to be considered the exception and not the rule. The following two conditions must be met before MDOT, its Modal Administrations and the Maryland Transportation Authority may approve a third-tier contracting agreement: (a) the bidder/offeror must request in writing approval of each third-tier contract arrangement, and (b) the request must contain specifics as to why a third-tier contracting arrangement should be approved. These documents must be submitted with the bid/proposal in Part 2 of this MBE Participation Schedule.
- For each MBE firm that is being used as a supplier/wholesaler/regular dealer/broker/manufacturer, please follow these instructions
 for calculating the <u>amount of the subcontract for purposes of achieving the MBE participation goals</u>;
 - A. Is the firm certified as a broker of the products/supplies? If the answer is YES, please continue to Item C. If the answer is NO, please continue to Item B.
 - B. Is the firm certified as a supplier, wholesaler, regular dealer, or manufacturer of such products/supplies? If the answer is YES, continue to Item D. If the answer is NO, continue to Item C only if the MBE firm is certified to perform trucking/hauling services under NAICS Codes 484110, 484121, 484122, 484210, 484220 and 484230. If the answer is NO and the firm is not certified under these NAICS Codes, then no MBE participation credit will be given for the supply of these products.

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 1 – INSTRUCTIONS FOR MBE PARTICIPATION SCHEDULE PAGE 2 OF 3

- C. For purposes of achieving the MBE participation goal, you may count only the amount of any reasonable fee that the MBE firm will receive for the provision of such products/supplies not the total subcontract amount or the value (or a percentage thereof) of such products and/or supplies. For Column 3 of the MBE Participation Schedule, please divide the amount of any reasonable fee that the MBE firm will receive for the provision of such products/services by the total Contract value and insert the percentage in Line 3.1.
- D. Is the firm certified as a manufacturer (refer to the firm's NAICS Code and specific description of products/services) of the products/supplies to be provided? If the answer is NO, please continue to Item E. If the answer is YES, for purposes of achieving the MBE participation goal, you may count the total amount of the subcontract. For Column 3 of the MBE Participation Schedule, please divide the total amount of the subcontract by the total Contract value and insert the percentage in Line 3.1.
- E. Is the firm certified as a supplier, wholesaler and/or regular dealer? If the answer is YES and the MBE firm is furnishing and installing the materials and is certified to perform these services, please divide the total subcontract amount (including full value of supplies) by the total Contract value and insert the percentage in Line 3.1. If the answer is YES and the MBE firm is only being used as a supplier, wholesaler and/or regular dealer or is not certified to install the supplies/materials, for purposes of achieving the MBE participation goal, you may only count sixty percent (60%) of the value of the subcontract for these supplies/products (60% Rule). To apply the 60% Rule, first divide the amount of the subcontract for these supplies/products only (not installation) by the total Contract value. Then, multiply the result by sixty percent (60%) and insert the percentage in Line 3.2.
- 8. For each MBE firm that is not being used as a supplier/wholesaler/regular dealer/broker/manufacturer, to calculate the amount of the subcontract for purposes of achieving the MBE participation goals, divide the total amount of the subcontract by the total Contract value and insert the percentage in Line 3.1.

Example: \$2,500 (Total Subcontract Amount) + \$10,000 (Total Contract Value) x 100 = 25%

9. WARNING: The percentage of MBE participation, computed using the percentage amounts determined per Column 3 for all of the MBE firms listed in Part 2, MUST at least equal the MBE participation goal <u>and</u> subgoals (if applicable) as set forth in MDOT MBE Form A – State-Funded Contracts for this solicitation. If a bidder/offeror is unable to achieve the MBE participation goal and/or any subgoals (if applicable), then the bidder/offeror must request a waiver in Form A or the bid will be deemed not responsive, or the proposal not susceptible of being selected for award. You may wish to use the attached Goal/Subgoal Worksheet to assist you in calculating the percentages and confirming that you have met the applicable MBE participation goal and subgoals (if any).

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 1 – INSTRUCTIONS FOR MBE PARTICIPATION SCHEDULE PAGE 3 OF 3

GOAL/SUBGOAL PARTICIPATION WORKSHEET

- 1. Complete the Part 2 MBE Participation Schedule for each MBE being used to meet the MBE goal and any subgoals.
- 2. After completion of the Part 2 MBE Participation Schedule, you may use the Goal/Subgoal Worksheet to calculate the total MBE participation commitment for the overall goal and any subgoals.
- MBE Overall Goal Participation Boxes: Calculate the total percentage of MBE participation for each MBE classification by adding
 the percentages determined per Column 3 of the Part 2 MBE Participation Schedule. Add the percentages determined in Lines
 3.1 and 3.2 for the MBE subcontractor (subs) total. Add the overall participation percentages determined in Line 3.3 for the MBE
 prime total.
- 4. MBE Subgoal Participation Boxes: Calculate the total percentage of MBE participation for each MBE classification by adding the percentages determined per Column 3 of the Part 2 MBE Participation Schedule. Add the percentages determined in Lines 3.1 and 3.2 for the MBE subcontractor (subs) total. Add the subgoal participation percentages determined in Line 3.3 for the MBE prime total.
- 5. The percentage amount for the MBE overall participation in the Total MBE Firm Participation Box F1 should be equal to the sum of the percentage amounts in Boxes A through E of the MBE Overall Goal Participation Column of the Worksheet.
- 6. The percentage amount for the MBE subgoal participation in the Total MBE Firm Participation Box L should be equal to the sum of the percentage amounts in Boxes A through E of the MBE Subgoal Participation Column of the Worksheet.

GOAL/SUBGOAL WORKS	HEET	
MBE Classification	MBE Overall Goal Participation	MBE Subgoal Participation
(A) Total African American Firm Participation (Add percentages determined for African American-Owned Firms per Column 3 of MBE Participation Schedule)	%subs	%subs
(B) Total Hispanic American Firm Participation (Add percentages determined for Hispanic American-Owned Firms per Column 3 of MBE Participation Schedule)	15 %subs %prime	%subs
(C) Total Asian American Firm Participation (Add percentages listed for Asian American-Owned Firms per Column 3 of MBE Participation Schedule)	%subs	%subs
(D) Total Women-Owned Firm Participation (Add percentages determined for Women-Owned Firms per Column 3 of MBE Participation Schedule)	3 %subs %prime	%subs
(E) Total for all other MBE Firms (Add percentages for firms listed as Other MBE Classification per Column 3 of the MBE Participation Schedule)	%subs	%subs
Total MBE Firm Participation (Add total percentages determined for all MBE Firms in each column of the Worksheet)	(F1) 18 %	(F2)%

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 2 – MBE PARTICIPATION SCHEDULE

PAGE ___ OF ____

PARTS 2 AND 3 MUST BE INCLUDED WITH THE BID/PROPOSAL. IF THE BIDDER/OFFEROR FAILS TO ACCURATELY COMPLETE AND SUBMIT PART 2 WITH THE BID/PROPOSAL AS REQUIRED, THE BID SHALL BE DEEMED NOT RESPONSIVE OR THE PROPOSAL SHALL BE DEEMED NOT SUSCEPTIBLE OF BEING SELECTED FOR AWARD.

Prime Contractor	Project Description	Solicitation Number
Lighting Maintenance Inc.	INTERIOR AND EXTERIOR LIGHTING MAINTENANCE AND LIGHT POLE INSPECTION AND REPAIR	MAA-MC-21-022

LIST INFORMATION FOR EACH CERTIFIED MBE PRIME OR MBE SUBCONTRACTOR YOU AGREE TO USE TO ACHIEVE THE MBE PARTICIPATION GOAL AND SUBGOALS, IF ANY. NOTE INSTRUCTIONS IN EACH COLUMN.

COLUMN 1	COLUMN 2	COLUMN 3 Unless the bidder/offeror requested a waiver in MDOT MBE Form A.—State Funded Contracts for this solicitation, the cumulative MBE participation for all MBE firms listed herein must equal at least the MBE participation goal and subgoals (if applicable) set forth in Form A.
NAME OF MBE PRIME OR MBE SUBCONTRACTOR AND TIER OELMANN ELECTRIC SUPPLY COMPANY, INC.	CERTIFICATION NO. AND MBE CLASSIFICATION Class: 423610	FOR PURPOSES OF ACHIEVING THE MBE PARTICIPATION GOAL AND SUBGOALS, refer to Sections 5 through 8 in Part 1 - Instructions. State the percentage amount of the products/services in Line 3.1, except for those products or services where the MBE firm is being used as a wholesaler, supplier, or regular dealer. For items of work where the MBE firm is being used as a supplier, wholesaler and/or regular dealer, complete Line 3.2 using the 60% Rule. For items of work where the MBE firm is the prime, complete Line 3.3.
MBE Name: Tier 2	Certification Number: Cert: 96-359	3.1. TOTAL PERCENTAGE TO BE PAID TO THE SUBCONTRACTOR (STATE THIS PERCENTAGE AS A PERCENTAGE OF THE TOTAL CONTRACT VALUE- EXCLUDING PRODUCTS/SERVICES FROM SUPPLIERS,
Check here if MBE firm is a subcontractor and complete in accordance with Sections 6, 7, & 8 of Part 1 - Instructions. If this box is checked, complete 3.1 or 3.2 in Column C, whichever is appropriate. Check here if MBE firm is the prime contractor, including a participant in a joint venture, and self-performance is being counted pursuant to Section 5 of Part 1 - Instructions. If this box is checked, complete 3.3 in Column C. Check here if MBE firm is a third-tier contractor (if applicable). Please submit written documents in accordance with Section 6 of Part 1 - Instructions.	(If dually certified, check only one box.) African American-Owned Hispanic American-Owned Women-Owned Other MBE Classification	WHOLESALERS OR REGULAR DEALERS). WHOLESALERS OR REGULAR DEALERS

Check here if Continuation Sheets are attached.

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 2 – MBE PARTICIPATION SCHEDULE CONTINUATION SHEET

PAGE __ OF ___

Prime Contractor	Project Description	Solicitation Number
Lighting Maintenance Inc.	INTERIOR AND EXTERIOR LIGHTING MAINTENANCE AND LIGHT POLE INSPECTION AND REPAIR	MAA-MC-21-022

LIST INFORMATION FOR EACH CERTIFIED MBE PRIME OR MBE SUBCONTRACTOR YOU AGREE TO USE TO ACHIEVE THE MBE PARTICIPATION GOAL AND SUBGOALS, IF ANY. NOTE INSTRUCTIONS IN EACH COLUMN.

001 11881 4	A COLUMNIA	l'asi toni c
COLUMN 1	COLUMN 2	COLUMN 3 Unless the bidder/offeror requested a waiver in MDOT MBE Form A – State Funded Contracts for this solicitation, the cumulative MBE participation for all MBE firms listed herein must equal at least the MBE participation goal and subgoals (if applicable) set forth in Form A.
NAME OF MBE PRIME OR MBE SUBCONTRACTOR AND TIER RJA ELECTRICAL SERVICE, LLC	CERTIFICATION NO. AND MBE CLASSIFICATION Class: 238210	FOR PURPOSES OF ACHIEVING THE MBE PARTICIPATION GOAL AND SUBGOALS, refer to Sections 5 through 8 in Part 1 - Instructions. State the percentage amount of the products/services in Line 3.1, except for those products or services where the MBE firm is being used as a wholesaler, supplier, or regular dealer. For Items of work where the MBE firm is being used as a supplier, wholesaler and/or regular dealer, complete Line 3.2 using the 60% Rule. For items of work where the MBE firm is the prime, complete Line 3.3.
MBE Name:	Certification Number:	A A TOTAL REPORTED TO BE BUILDING TO BE SHOWN TO BE SH
Tjer 2	Cert: 13-256 (If dually certified, check only one box.)	3.1. TOTAL PERCENTAGE TO BE PAID TO THE SUBCONTRACTOR (STATE THIS PERCENTAGE AS A PERCENTAGE OF THE TOTAL CONTRACT VALUE- EXCLUDING PRODUCTS/SERVICES FROM SUPPLIERS, WHOLESALERS OR REGULAR DEALERS).
firm is a subcontractor and complete in accordance with Sections 6, 7, & 8 of Part 1 -	☐ African American-Owned ☐ Hispanic American- Owned	15 % (Percentage for purposes of calculating achievement of MBE Participation goal and subgoals, if any)
Instructions. If this box is checked, complete 3.1 or 3.2 in Column C,	☐ Asian American-Owned ☐ Women-Owned	3.2 TOTAL PERCENTAGE TO BE PAID TO THE SUBCONTRACTOR FOR ITEMS OF WORK WHERE THE MBE FIRM IS BEING USED AS A SUPPLIER. WHOLESALER AND/OR REGULAR DEALER) (STATE THE PERCENTAGE AS
whichever is appropriate.	☐ Other MBE Classification	A PERCENTAGE OF THE TOTAL CONTRACT VALUE AND THEN APPLY THE 60% RULE PER SECTION 7(E) IN PART 1 - INSTRUCTIONS).
Check here if MBE firm is the prime contractor, including a		% Total percentage of Supplies/Products
participant in a joint venture, and self-		x 60% (60% Rule)
performance is being counted pursuant to Section 5 of Part 1 -		% (Percentage for purposes of calculating achievement of MBE Participation goal and subgoals, if any)
Instructions. If this box is checked, complete 3.3 in Column C:		3.3. TOTAL PERCENTAGE TO BE PAID TO MBE PRIME FOR WORK THAT CAN BE COUNTED AS MBE SELF-PERFORMANCE (STATE THIS PERCENTAGE AS A PERCENTAGE OF THE TOTAL CONTRACT VALUE).
Check here if MBE firm is a third-tier contractor (if applicable).		(a)% Total percentage for self-performed items of work in which MBE is certified)
Please submit written documents in accordance		(b)% (Insert 50% of MBE overall goal)
with Section 6 of Part 1 - Instructions		(c)% (Insert subgoal for classification checked in Column 2, if applicable)
		Percentages for purposes of calculating achievement of MBE Participation goals:
		 For MBE Overall goal – Use lesser of (a) or (b) For MBE Subgoal – Use lesser of (a) or (c).
		→If MBE Prime is supplier, wholesaler and/or regular dealer, apply the 60% rule.

☐Check here if Continuation Sheets are attached.

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 3 – CERTIFICATION FOR MBE PARTICIPATION SCHEDULE

PARTS 2 AND 3 MUST BE INCLUDED WITH THE BID/PROPOSAL AS DIRECTED IN THE INVITATION TO BID/ REQUEST FOR PROPOSALS.

I hereby affirm that I have reviewed the Products and Services Description (specific product that a firm is certified to provide or areas of work that a firm is certified to perform) set forth in the MDOT MBE Directory for each of the MBE firms listed in Part 2 of this MBE Form B for purposes of achieving the MBE participation goals and subgoals that were identified in the MBE Form A that I submitted with this solicitation, and that the MBE firms listed are only performing those products/services/areas of work for which they are certified. I also hereby affirm that I have read and understand the form instructions set forth in Part 1 of this MBE Form B.

The undersigned Prime Contractor hereby certifies and agrees that they have fully complied with the State Minority Business Enterprise law, State Finance and Procurement Article §14-308(a)(2), Annotated Code of Maryland which provides that, except as otherwise provided by law, a contractor may not identify a certified minority business enterprise in a bid or proposal and:

- (1) fail to request, receive, or otherwise obtain authorization from the certified minority business enterprise to identify the certified minority business enterprise in its bid or proposal:
- (2) fail to notify the certified minority business enterprise before execution of the contract of its inclusion of the bid or proposal;
- (3) fail to use the certified minority business enterprise in the performance of the contract; or
- (4) pay the certified minority business enterprise solely for the use of its name in the bid or proposal.

I solemnly affirm under the penalties of perjury that the contents of Parts 2 and 3 of MDOT MBE Form B are true to the best of my knowledge, information and belief.

Lighting Maintenance Inc. Company Name	Richard A Under Signature of Representative	
832 Oregon Avenue, Suite A	Richard Yoder/Chief Estimator	
Address	Printed Name and Title	
Linthicum, MD 21090	9/15/20	
City, State and Zip Code	Date	

SECTION P

BID

BID OF	Hatzel and Buehler, Inc.	
ADDRESS	11695 Crossroads Circle, Suite	e L, Middle River, Maryland 21220
TELEPHONE	410-862-1001	
FASCMILE NUMBER	410-335-2860	
E-MAIL ADDRESS	r.henninger@HatzelandBueh	ler.com
MADE THIS	17th	DAY OF September 2020
BID GUARANTY	Not Required if Total Bid P	rice is less than \$100,000
TIME OF COMPLETION		See TP-1.04 Duration
LIQUIDATED DAMAGES F	PER CALENDAR DAY	N/A
TO THE MARYLAND AVIA	The state of the s	BID OPENING GOOD MARSHALL AIRPORT
The undersigned hereby decla Department of Transportation Interior and Exterior Lighti	, Maryland Aviation Administra ng Maintenance and Light Po mational Thurgood Marshall	the Specifications entitled: Maryland ation, Contract No. MAA-MC-21-022, le Inspection and Repair at Airport (BWI Marshall) and Martin State
the above-said project for the other Contract Documents inc	Maryland Aviation Administrat	erials, equipment and services necessary for ion in accordance with the Specifications and Maryland Aviation Administration, number(s) wing price(s):
Bidders shall submit positive	unit price amounts or a bid of ze	ero on the Bid form only. No negative unit

price amounts shall be accepted as responsive bids.

Section I - First Year Unit Costs

Part I - Administrative Fixed Fee (Per TP-1.23)

Item No.	Description	Annual Frequency		Monthly Fee		Annual Cost
1	Monthly Fixed Fee at BWI Marshall	12	X	\$ 9,496.66		\$ 113,959.92
			s	ub Total - Part I	=	\$ 113,959.92

Part II - Labor Rates (Per TP-1.08. TP-1.12, TP-1.13, TP-1.14 and TP-1.23)

Item No.	Description	Hourly Rate		Frequency (Hours)			Annual Cost
	A. Supervisor						
1	Straight Time Labor Rate	86.65	X:	1,000	==	S.	86,650.00
2	Overtime Labor Rate	120.85	Х	500	=	\$	60,425.00
	B. Electrician/Mechanic	1				•	
1	Straight Time Labor Rate	77.03	x	2,000	=	s	154,060.00
2	Overtime Labor Rate	106.43	х	500	=	S	53,215.00
·	C. Apprentice/Helper					•	
l	Straight Time Labor Rate	57.83	х	2,000	=	s	115,660.00
2	Overtime Labor Rate	79.87	Х	500	æ	\$	39,935.00
			Sub	Total - Part II	=	\$	509,945.00

Part III - Equipment Rates (Per TP-1.08 and TP-1.23)

Item No.	Description	Hourly Rate		Frequency (Hours)			Annual Cost
1	25 Ft. Genie Personnel Lift	33.28	x	100	=	\$	3,328.00
2:	45 Ft. Scissor Lift	49.23	x	100	=	s	4,923.00
3	90 Ft/Bucket Truck	122,45	x	1.00	<u> </u>	\$	12,245.00
4	60 ft. Crawler	266.00	х	100	-	\$	26,600.00
			Sub	Total - Part III	=	\$	47,096.00

Note: Some equipment shall be incidental to the work on and shall be factored into the hourly labor rates found above. These would be items such as: line truck with cable pull, confined space equipment and portable generator for small tools. However, the Administration has determined it shall compensate the Contractor separately for the following equipment.

Part IV - Light Pole Ultrasound Inspection Rates (Per TP-1.13 and TP-1.23)

Item No.	Description	Cost Per Pole		Annual Pole Inspection		Annual Cost
İ	Light Pole Inspection Rate	2,216.15	x	125	CE2.	\$ 277,018.75
			Sub	Total - Part IV	=	s 277,018,75

Total Section I - First Year Costs

\$ 948,019.67

(Total Part I plus Part II plus Part IV)

Section II - Second Year Unit Costs

Part I - Administrative Fixed Fee (Per TP-1.23)

Item No.	Description	Annual Frequency		Monthly Fee			Annual Cost
I	Monthly Fixed Fee at BW! Marshall	12	х	\$ 9,496.66		S	113,959.92
			s	ub Total - Part I	.=	s	113,959.92

Part II - Labor Rates (Per TP-1.08. TP-1.12, TP-1.13, TP-1.14 and TP-1.23)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost
	A. Supervisor			<u> </u>		
1	Straight Time Labor Rate	89.51	X	1,000		\$ 89,510.00
2	Overtime Labor Rate	125.13	X	500	-	s 62,565.00
	B. Electrician/Mechanic		•		······································	
1	Straight Time Labor Rate	79.87	x	2,000		\$ 159,740.00
2	Overtime Labor Rate	110.70	х	500	=	s 55,350.00
	C. Apprentice/Helper		·••			
1	Straight Time Labor Rate	59,95	X.	2,000	=	s 119,900,00
2	Overtime Labor Rate	83.07	х	500	эл	\$ 41,535.00
			Sub	Total - Part II	=	\$ 528,600.00

Part III - Equipment Rates (Per TP-1.08 and TP-1.24)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost
ı	25 Ft. Genie Personnel Lift	33:28	X	100	<u> 41-</u> .	\$ 3,328.00
2	45 Ft. Scissor Lift	49:23	х	100	. ==	\$ 4,923.00
3	90 Ft. Bucket Truck	122,45	Х	100	272	\$ 12,245.00
4	60 ft. Crawler	266.00	х	1.00	17	\$ 26,600.00
			Sub	Total - Part III	=	\$ 47,096.00

Note: Some equipment shall be incidental to the work on and shall be factored into the hourly labor rates found above. These would be items such as: line truck with cable pull, confined space equipment and portable generator for small tools. However, the Administration has determined it shall compensate the Contractor separately for the following equipment,

Part IV - Light Pole Ultrasound Inspection Rates (Per TP-1.13 and TP-1.24)

Item No.	Description	Cost Per Pole		Annual Pole Inspection		Annual Cost
l	Light Pole Inspection Rate	2,216.15	Х	125	i=	\$ 277,018.75
			Sub	Total - Part IV	=	\$ 277,018.75

Total Section II - Second Year Costs

\$ 966,674.67

(Total Part I plus Part II plus Part III plus Part IV)

Section III - Third Year Unit Costs

Part I - Administrative Fixed Fee (Per TP-1.23)

Item No.	Description	Annual Frequency		Monthly Fee		Annual Cost
1	Monthly Fixed Fee at BWI Marshall	12	X	\$ 9,496.66	:55.	s 113,959.92
	Sub 1	=	s 113,959.92			

Part II - Labor Rates (Per TP-1.08. TP-1.12, TP-1.13, TP-1.14 and TP-1.23)

Item No.	Description	Hourly Rate		Frequency (Hours)		Annual Cost
	A. Supervisor					
1	Straight Time Labor Rate	90.93	X	1,000	=	\$ 90,930.00
2	Overtime Labor Rate	127.26	X.	500		\$ 63,630.00
	B. Electrician/Mechanic				-	
1	Straight Time Labor Rate	81.30	х	2,000	-	\$ 162,600.00
2	Overtime Labor Rate	112.84	х	500		s 56,420.00
	C. Apprentice/Helper		· · · · ·		····	
ì	Straight Time Labor Rate	61.03	х	2,000	222	S 122,060.00
2	Overtime Labor Rate	84,67	Х	500	=	\$ 42,335.00
		Sub Total - Part II		· · · · · · · · · · · · · · · · · · ·	=	s 537,975.00

Part III - Equipment Rates (Per TP-1.08 and TP-1.24)

Item No.	Description	Hourly Rate		Frequency (Hours)	T	Annual Cost
ï	25 Ft. Genie Personnel Lift	33.28	x	100	=	\$ 3,328.00
2	45 Ft. Scissor Lift	49.23	х	100	=	\$ 4,923.00
3	90 Ft. Bucket Truck	122.45	х	100	=	\$ 12,245.00
4	60 ft. Crawler	266.00	Х	100	=	\$ 26,600.00
			Sub	Total - Part III	=	\$ 47,096.00

Note: Some equipment shall be incidental to the work on and shall be factored into the hourly labor rates found above. These would be items such as: line truck with cable pull, confined space equipment and portable generator for small tools. However, the Administration has determined it shall compensate the Contractor separately for the following equipment.

Part IV - Light Pole Ultrasound Inspection Rates (Per TP-1.13 and TP-1.24)

Item No.	Description	Cost Per Pole		Annual Pole Inspection		Annual Cost
1	Light Pole Inspection Rate	2,216.15	х	125	~=	s 277,018.75
			Sub	Total - Part IV	=	\$ 277,018.75

Total Section III - Third Year Costs

\$ 976,049,67

(Total Part I plus Part II plus Part III plus Part IV)

Section IV - Extra Work and Parts Allowance (3 Years) (Per TP-1.24)

Item No.	Description		То	tal Allowances
1	Extra Work Allowance - BWI Marshall		\$	500,000.00
2	Extra Work Allowance - MTN	=	Š	60,000.00
	Sub Total - Section VI	=	S	560,000.00

The Extra Work and Parts Allowance is per <u>TP-1.24</u> The dollar amounts for the Extra Work and Parts Allowance are not guaranteed payments to the Contractor. The funds are intended to give the Administration spending flexibility for work over and above the routine scope of work outlined in the technical provisions of the contract for growth of BWI Marshall passenger counts and increased usage of facilities, as well as non-routine, unexpected and emergency expenses.

Section VII - Total Contract Cost	\$	3,450,744.01	
Sum of Total Section I plus Total Section	n II plus Total Section III pl	us Total Section IV	
TOTAL CONTRACT COST Three M	Million Four Hundred Fifty	Thousand Seven Hu	ndred Forty Four

The foregoing prices include and cover the furnishing of all vendor/subcontractor labor and material, mark-up, overhead, profit, delivery, storage, burden, installation, equipment, tools, insurance, and all similar incidental costs to complete each individual task, as set forth, described, and shown in the Specifications and other Contract Documents. Total Contract Cost listed above is the maximum spending authority for this contract and is subject to approval by the Maryland Board of Public Works. It should be noted, however, Administration spending authority for the contract is subject to fiscal year appropriations as approved by the Governor and the State Legislature and may be funded at less than the full contract yalue.

Each and every person bidding and named above must sign here. In case of firm, give the first and last name of each member in full with residence.

In case a bid shall be submitted by or on behalf of any corporation it must be signed in the name of such corporation by an authorized officer, or agent thereof, who shall also subscribe his name and office. The seal of the corporation shall be fixed.

the specifications.

***************	**********
IN WITNESS WHEREOF:	
Witness	Hatzel and Buehler, Inc. Contractor
September 17, 2020	By: Jin S
Date:	Signature
Robert Henninger	Tim Sauter
Name of Point of Contact	Printed or Typed
410-862-1001 ext # 7558	Vice President
Phone Number of Point of Contact	Title
r.henninger@HatzelandBuehler.com	13-0828930
E-mail Address of Point of Contact	Federal Tax Identification Number or Social Security Number
Project Manager	
Title of Point of Contact	

MDOT MBE FORM A STATE-FUNDED CONTRACTS CERTIFIED MBE UTILIZATION AND FAIR SOLICITATION AFFIDAVIT PAGE 1 OF 2

THIS AFFIDAVIT MUST BE INCLUDED WITH THE BID/PROPOSAL. IF THE BIDDER/OFFEROR FAILS TO ACCURATELY COMPLETE AND SUBMIT THIS AFFIDAVIT AS REQUIRED, THE BID SHALL BE DEEMED NOT RESPONSIVE OR THE PROPOSAL NOT SUSCEPTIBLE OF BEING SELECTED FOR AWARD.

In connection with the bid/proposal submitted in response to Solicitation No. MAA-MC-21-022, I affirm the following:

1. MBE Participation (PLEASE CHECK ONLY ONE)

X I have met the overall certified Minority Business Enterprise (MBE) participation
goal of EIGHTEEN percent (18%) and the following subgoals, if applicable:
zero percent (0%) for African American-owned MBE firms
zero percent (0%) for Hispanic American-owned MBE firms
zero percent (0%) for Asian American-owned MBE firms
zero percent (0%) for Women-owned MBE firms
I agree that these percentages of the total dollar amount of the Contract, for the MBE goal and
subgoals (if any), will be performed by certified MBE firms as set forth in the MBE Participation
Schedule - Part 2 of the MDOT MBE Form B (State-Funded Contracts).
OR
Legisland that Law (works to extraor the NACC and distance and add and to exclude the

I conclude that I am unable to achieve the MBE participation goal and/or subgoals. I hereby request a waiver, in whole or in part, of the overall goal and/or subgoals. Within 10 business days of receiving notice that our firm is the apparent awardee or as requested by the Procurement Officer, I will submit a written waiver request and all required documentation in accordance with COMAR 21.11.03.11. For a partial waiver request, I agree that certified MBE firms will be used to accomplish the percentages of the total dollar amount of the Contract, for the MBE goal and subgoals (if any), as set forth in the MBE Participation Schedule - Part 2 of the MDOT MBE Form B (State-Funded Contracts).

2. Additional MBE Documentation

I understand that if I am notified that I am the apparent awardee or as requested by the Procurement Officer, I must submit the following documentation within 10 business days of receiving such notice:

- (a) Outreach Efforts Compliance Statement (MDOT MBE Form C State-Funded Contracts);
- (b) Subcontractor Project Participation Statement (MDOT MBE Form D State-Funded Contracts):
- (c) If waiver requested, MBE Waiver Request Documentation and Forms (MDOT MBE/DBE Form E Good Faith Efforts Guidance and Documentation) per COMAR 21:11.03.11; and
- (d) Any other documentation required by the Procurement Officer to ascertain bidder's responsibility/ offeror's susceptibility of being selected for award in connection with the certified MBE participation goal and subgoals, if any

I acknowledge that if I fail to return each completed document (in 2 (a) through (d)) within the required time, the Procurement Officer may determine that I am not responsible and therefore not eligible for contract award or that the proposal is not susceptible of being selected for award.

MDOT MBE FORM A STATE-FUNDED CONTRACTS CERTIFIED MBE UTILIZATION AND FAIR SOLICITATION AFFIDAVIT PAGE 2 OF 2

3. Information Provided to MBE firms

In the solicitation of subcontract quotations or offers, MBE firms were provided not less than the same information and amount of time to respond as were non-MBE firms.

4. Products and Services Provided by MBE firms

I hereby affirm that the MBEs are only providing those products and services for which they are MDOT certified.

I solemnly affirm under the penalties of perjury that the information in this affidavit is true to the best of my knowledge, information and belief.

Hatzel and Buehler, Inc.	Tim Ja
Company Name	Signature of Representative
11695 Crossroads Circle, Suite L	Tim Sauter, Vice President
Address	Printed Name and Title
Middle River, MD 21220	September 17, 2020
City. State and Zip Code	Date

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 1 – INSTRUCTIONS FOR MBE PARTICIPATION SCHEDULE PAGE 1 OF 3

PARTS 2 AND 3 MUST BE INCLUDED WITH THE BID/PROPOSAL. IF THE BIDDER/OFFEROR FAILS TO ACCURATELY COMPLETE AND SUBMIT PART 2 WITH THE BID/PROPOSAL AS REQUIRED, THE BID SHALL BE DEEMED NOT RESPONSIVE OR THE PROPOSAL SHALL BE DEEMED NOT SUSCEPTIBLE OF BEING SELECTED FOR AWARD.

PLEASE READ BEFORE COMPLETING THIS FORM

- 1. Please refer to the Maryland Department of Transportation (MDOT) MBE Directory at www.mdot.state.md.us to determine if a firm is certified for the appropriate North American Industry Classification System ("NAICS") Code <u>and</u> the product/services description (specific product that a firm is certified to provide or specific areas of work that a firm is certified to perform). For more general information about NAICS, please visit <u>www.naics.com</u>. Only those specific products and/or services for which a prime or subcontractor is a certified MBE in the MDOT Directory can be used for purposes of achieving the MBE participation goals.
- 2. In order to be counted for purposes of achieving the MBE participation goals, the MBE firm (whether a prime or subcontractor) must be certified for that specific NAICS Code ("MBE" for State-funded projects designation after NAICS Code). WARNING: If the firm's NAICS Code is in graduated status, such services/products will not be counted for purposes of achieving the MBE participation goals. Graduated status is clearly identified in the MDOT Directory (such graduated codes are designated with the word graduated after the appropriate NAICS Code).
- 3. Examining the NAICS Code is the <u>first step</u> in determining whether an MBE firm is certified and eligible to receive MBE participation credit for the specific products/services to be supplied or performed under the contract. The <u>second step</u> is to determine whether a firm's Products/Services Description in the MBE Directory includes the products to be supplied and/or services to be performed that are being used to achieve the MBE participation goals. If you have any questions as to whether a firm is certified to perform the specific services or provide specific products, please contact MDOT's Office of Minority Business Enterprise at 1-800-544-6056 or via email at mbe@mdot.state.md.us.
- 4. Complete the Part 2 MBE Participation Schedule for all certified MBE firms (including primes and subcontractors) being used to achieve the MBE participation goal and subgoals, if any.
- MBE Prime Self-Performance. When a certified MBE firm participates as a prime (independently or as part of a joint venture) on a contract, a procurement agency may count the distinct, clearly defined portion of the work of the contract that the certified MBE firm performs with its own forces toward fulfilling up to fifty-percent (50%) of the MBE participation goal (overall) and up to one hundred percent (100%) of not more than one of the MBE participation subgoals, if any, established for the contract. In order to receive credit for self-performance, an MBE prime must be (a) a certified MBE (see 1-3 above) and (b) listed in the Part 2 MBE Participation Schedule with its certification number, the certification classification under which it will self-perform, and the percentage of the contract that can be counted as MBE self-performance. For the remaining portion of the overall goal and any subgoals, the MBE prime must also list, in the Part 2 MBE Participation Schedule, other certified MBE firms used to meet those goals or, after making good faith efforts to obtain the participation of additional MBE firms, request a waiver. Note: A dually-certified MBE firm can use its own forces toward fulfilling ONLY ONE of the MBE subgoals for which it can be counted.
- The Contractor's subcontractors are considered second-tier subcontractors. Third-tier contracting used to meet an MBE goal is to be considered the exception and not the rule. The following two conditions must be met before MDOT, its Modal Administrations and the Maryland Transportation Authority may approve a third-tier contracting agreement: (a) the bidder/offeror must request in writing approval of each third-tier contract arrangement, and (b) the request must contain specifics as to why a third-tier contracting arrangement should be approved. These documents must be submitted with the bid/proposal in Part 2 of this MBE Participation Schedule.
- 7. For each MBE firm that is being used as a supplier/wholesaler/regular dealer/broker/manufacturer, please follow these instructions for calculating the <u>amount of the subcontract for purposes of achieving the MBE participation goals:</u>
 - A. Is the firm certified as a broker of the products/supplies? If the answer is YES, please continue to Item C. If the answer is NO, please continue to Item B.
 - B. Is the firm certified as a supplier, wholesaler, regular dealer, or manufacturer of such products/supplies? If the answer is YES, continue to Item D. If the answer is NO, continue to Item C only if the MBE firm is certified to perform trucking/hauling services under NAICS Codes 484110, 484121, 484122, 484210, 484220 and 484230. If the answer is NO and the firm is not certified under these NAICS Codes, then no MBE participation credit will be given for the supply of these products.

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 1 – INSTRUCTIONS FOR MBE PARTICIPATION SCHEDULE PAGE 2 OF 3

- C. For purposes of achieving the MBE participation goal, you may count <u>only</u> the amount of any reasonable fee that the MBE firm will receive for the provision of such products/supplies <u>not</u> the total subcontract amount or the value (or a percentage thereof) of such products and/or supplies. For Column 3 of the MBE Participation Schedule, please divide the amount of any reasonable fee that the MBE firm will receive for the provision of such products/services by the total Contract value and insert the percentage in Line 3.1.
- D. Is the firm certified as a manufacturer (refer to the firm's NAICS Code and specific description of products/services) of the products/supplies to be provided? If the answer is NO, please continue to Item E. If the answer is YES, for purposes of achieving the MBE participation goal, you may count the total amount of the subcontract. For Column 3 of the MBE Participation Schedule, please divide the total amount of the subcontract by the total Contract value and insert the percentage in Line 3.1.
- E. Is the firm certified as a supplier, wholesaler and/or regular dealer? If the answer is YES and the MBE firm is furnishing and installing the materials and is certified to perform these services, please divide the total subcontract amount (including full value of supplies) by the total Contract value and insert the percentage in Line 3.1. If the answer is YES and the MBE firm is only being used as a supplier, wholesaler and/or regular dealer or is not certified to install the supplies/materials, for purposes of achieving the MBE participation goal, you may only count sixty percent (60%) of the value of the subcontract for these supplies/products (60% Rule). To apply the 60% Rule, first divide the amount of the subcontract for these supplies/products only (not installation) by the total Contract value. Then, multiply the result by sixty percent (60%) and insert the percentage in Line 3.2.
- 8. For each MBE firm that <u>is not</u> being used as a supplier/wholesaler/regular dealer/broker/manufacturer, to calculate the <u>amount of the subcontract for purposes of achieving the MBE participation goals</u>, divide the total amount of the subcontract by the total Contract value and insert the percentage in Line 3.1.

Example: \$2,500 (Total Subcontract Amount) + \$10,000 (Total Contract Value) x 100 = 25%

WARNING: The percentage of MBE participation, computed using the percentage amounts determined per Column 3 for all of the MBE firms listed in Part 2, MUST at least equal the MBE participation goal <u>and</u> subgoals (if applicable) as set forth in MDOT MBE Form A – State-Funded Contracts for this solicitation. If a bidder/offeror is unable to achieve the MBE participation goal and/or any subgoals (if applicable), then the bidder/offeror must request a waiver in Form A or the bid will be deemed not responsive, or the proposal not susceptible of being selected for award. You may wish to use the attached Goal/Subgoal Worksheet to assist you in calculating the percentages and confirming that you have met the applicable MBE participation goal and subgoals (if any).

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 1 – INSTRUCTIONS FOR MBE PARTICIPATION SCHEDULE PAGE 3 OF 3

GOAL/SUBGOAL PARTICIPATION WORKSHEET

- 1. Complete the Part 2 MBE Participation Schedule for each MBE being used to meet the MBE goal and any subgoals.
- 2. After completion of the Part 2 MBE Participation Schedule, you may use the Goal/Subgoal Worksheet to calculate the total MBE participation commitment for the overall goal and any subgoals.
- 3. MBE Overall Goal Participation Boxes: Calculate the total percentage of MBE participation for each MBE classification by adding the percentages determined per Column 3 of the Part 2 MBE Participation Schedule. Add the percentages determined in Lines 3.1 and 3.2 for the MBE subcontractor (subs) total. Add the overall participation percentages determined in Line 3.3 for the MBE prime total.
- 4. MBE Subgoal Participation Boxes: Calculate the total percentage of MBE participation for each MBE classification by adding the percentages determined per Column 3 of the Part 2 MBE Participation Schedule. Add the percentages determined in Lines 3.1 and 3.2 for the MBE subcontractor (subs) total. Add the subgoal participation percentages determined in Line 3.3 for the MBE prime total.
- 5. The percentage amount for the MBE overall participation in the Total MBE Firm Participation Box F1 should be equal to the sum of the percentage amounts in Boxes A through E of the MBE Overall Goal Participation Column of the Worksheet.
- 6. The percentage amount for the MBE subgoal participation in the Total MBE Firm Participation Box L should be equal to the sum of the percentage amounts in Boxes A through E of the MBE Subgoal Participation Column of the Worksheet.

GOAL/SUBGOAL WORKSHEET			
MBE Classification	MBE Overall Goal Participation	MBE Subgoal Participation	
(A) Total African American Firm Participation (Add percentages determined for African American-Owned Firms per Column 3 of MBE Participation Schedule)		%subs	
(B) Total Hispanic American Firm Participation (Add percentages determined for Hispanic American-Owned Firms per Column 3 of MBE Participation Schedule)	%subs	%subs	
(C) Total Asian American Firm Participation (Add percentages listed for Asian American-Owned Firms per Column 3 of MBE Participation Schedule)	%subs	%subs	
(D) Total Women-Owned Firm Participation (Add percentages determined for Women-Owned Firms per Column 3 of MBE Participation Schedule)	%subs	%subs %prime	
(E) Total for all other MBE Firms (Add percentages for firms listed as Other MBE Classification per Column 3 of the MBE Participation Schedule)	%subs	%subs	
Total MBE Firm Participation (Add total percentages determined for all MBE Firms in each column of the Worksheet)	(F1) 18 %	(F2) <u>%</u>	

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 2—MBE PARTICIPATION SCHEDULE

PAGE 1 OF 1

PARTS 2 AND 3 MUST BE INCLUDED WITH THE BID/PROPOSAL. IF THE BIDDER/OFFEROR FAILS TO ACCURATELY COMPLETE AND SUBMIT PART 2 WITH THE BID/PROPOSAL AS REQUIRED, THE BID SHALL BE DEEMED NOT RESPONSIVE OR THE PROPOSAL SHALL BE DEEMED NOT SUSCEPTIBLE OF BEING SELECTED FOR AWARD.

Prime Contractor	Project Description	Solicitation Number
Hatzel and Buehler, Inc.	Interior & Exterior Lighting Maintenance @ BWI & MTN	MAA-MC-21-022

LIST INFORMATION FOR EACH CERTIFIED MBE PRIME OR MBE SUBCONTRACTOR YOU AGREE TO USE TO ACHIEVE THE MBE PARTICIPATION GOAL AND SUBGOALS, IF ANY, NOTE INSTRUCTIONS IN EACH COLUMN.

COLUMN 1	COLUMN 2	COLUMN 3 Unless the bidder/offeror requested a waiver in MDOT MBE Form A – State Funded Contracts for this solicitation, the cumulative MBE participation for all MBE firms listed herein must equal at least the MBE participation goal and subgoals (if applicable) set forth in Form A.
NAME OF MBE PRIME OR MBE SUBCONTRACTOR AND TIER	CERTIFICATION NO. AND MBE CLASSIFICATION.	FOR PURPOSES OF ACHIEVING THE MBE PARTICIPATION GOAL AND SUBGOALS, refer to Sections 5 through 8 in Part 1 - Instructions. State the percentage amount of the products/services in Line 3.1, except for those products or services where the MBE firm is being used as a wholesaler, supplier, or regular dealer. For items of work where the MBE firm is being used as a supplier, wholesaler and/or regular dealer, complete Line 3.2 using the 60% Rule. For items of work where the MBE firm is the prime, complete Line 3.3.
MBE Name:	Certification Number:	
Brown-Tisdale, Inc.	08-396	3.1. TOTAL PERCENTAGE TO BE PAID TO THE SUBCONTRACTOR (STATE THIS PERCENTAGE AS A PERCENTAGE OF THE TOTAL CONTRACT VALUE- EXCLUDING PRODUCTS/SERVICES FROM SUPPLIERS.
X Check here if MBE	(If dually certified, check only one box.)	WHOLESALERS OR REGULAR DEALERS).
firm is a subcontractor		18
and complete in accordance with Sections	X African American-Owned	18 % (Percentage for purposes of calculating achievement of MBE Participation goal and subgoals, if any)
6, 7, & 8 of Part 1 -	☐ Hispanic American- Owned	
Instructions: If this box is	☐ Asian American-Owned	3.2 TOTAL PERCENTAGE TO BE PAID TO THE SUBCONTRACTOR FOR
checked, complete 3.1 or 3.2 in Column C.	☐ Women-Owned	ITEMS OF WORK WHERE THE MBE FIRM IS BEING USED AS A SUPPLIER, WHOLESALER AND/OR REGULAR DEALER) (STATE THE PERCENTAGE AS
whichever is appropriate.	☐ Other MBE Classification	A PERCENTAGE OF THE TOTAL CONTRACT VALUE AND THEN APPLY THE 60% RULE PER SECTION 7(E) IN PART 1 - INSTRUCTIONS).
Check here if MBE firm is the prime		% Total percentage of Supplies/Products
contractor, including a participant in a joint venture, and self-		x 60% (60% Rule)
performance is being counted pursuant to Section 5 of Part 1 -		% (Percentage for purposes of calculating achievement of MBE Participation goal and subgoals, if any)
Instructions. If this box is checked, complete 3.3 in Column C.		3.3. TOTAL PERCENTAGE TO BE PAID TO MBE PRIME FOR WORK THAT CAN BE COUNTED AS MBE SELF-PERFORMANCE (STATE THIS PERCENTAGE AS A PERCENTAGE OF THE TOTAL CONTRACT VALUE).
☐ Check here if MBE firm is a third-tier, contractor (if applicable). Please submit written		(a)% Total percentage for self-performed items of work in which MBE is certified)
documents in accordance		(b)% (Insert 50% of MBE overall goal)
with Section 6 of Part 1 - Instructions		(c)% (Insert subgoal for classification checked in Column 2, if applicable)
		Percentages for purposes of calculating achievement of MBE Participation goals:
		 For MBE Overall goal – Use lesser of (a) or (b) For MBE Subgoal – Use lesser of (a) or (c) If MBE Prime is supplier, wholesaler and/or regular dealer, apply the 60% rule.
		- Transcer Aine is supplied, wholesaler allower regular dealer, apply the 60% fulle.

MDOT MBE FORM B STATE-FUNDED CONTRACTS PART 3 – CERTIFICATION FOR MBE PARTICIPATION SCHEDULE

PARTS 2 AND 3 MUST BE INCLUDED WITH THE BID/PROPOSAL AS DIRECTED IN THE INVITATION TO BID/ REQUEST FOR PROPOSALS.

I hereby affirm that I have reviewed the Products and Services Description (specific product that a firm is certified to provide or areas of work that a firm is certified to perform) set forth in the MDOT MBE. Directory for each of the MBE firms listed in Part 2 of this MBE Form B for purposes of achieving the MBE participation goals and subgoals that were identified in the MBE Form A that I submitted with this solicitation, and that the MBE firms listed are only performing those products/services/areas of work for which they are certified. I also hereby affirm that I have read and understand the form instructions set forth in Part 1 of this MBE Form B.

The undersigned Prime Contractor hereby certifies and agrees that they have fully complied with the State Minority Business Enterprise law, State Finance and Procurement Article §14-308(a)(2), Annotated Code of Maryland which provides that, except as otherwise provided by law, a contractor may not identify a certified minority business enterprise in a bid or proposal and:

- (1) fail to request, receive, or otherwise obtain authorization from the certified minority business enterprise to identify the certified minority business enterprise in its bid or proposal;
- (2) fail to notify the certified minority business enterprise before execution of the contract of its inclusion of the bid or proposal;
- (3) fail to use the certified minority business enterprise in the performance of the contract; or
- (4) pay the certified minority business enterprise solely for the use of its name in the bid or proposal.

I solemnly affirm under the penalties of perjury that the contents of Parts 2 and 3 of MDOT MBE Form B are true to the best of my knowledge, information and belief.

Hatzel and Buenler, Inc.	Jun S			
Company Name	Signature of Representative			
11695 Crossroads Circle, Suite L	Tim Sauter, Vice President			
Address	Printed Name and Title			
Middle River, MD 21220	September 17, 2020			
City, State and Zip Code	Date.			